HW 2.2(a) Key

Deposits of 100 are placed into a fund at the beginning of each year for 12 years. The effective annual
interest rate is 9%. Calculate the present value of the series of payments.

[A)] 78052 B) 65163 C) 71607 D) 84497 E) 909.41
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2. Deposits of 30 are placed into a fund at the beginning of each year for 10 years. The effective annual
interest rate is 10%. Calculate the accumulated value of the series of payments at the end of the 10th
year.

[a)] 52594 B) 43031 C) 47812 D) 57375 E) 621.56
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3. Deposits of 70 are placed into a fund at the beginning of each year with the first deposit occurring at 7= 8.
The effective annual interest rate is 4%. Calculate the accumulated value of the series of payments at the
end of the 28th year.

2,167.84 B) 191771 C) 2,001.09 D) 2,08447 E) 225122

——uma e

(.) 7‘? N 70 SB/Yde = “20 (\.od) Suh
r S R T T T 1
7 1o --- 70 | (\,OL{\ZO —
N S
10 35\4e/,

= Izuﬂ.?q |




4. Deposits of 80 are placed into a fund at the beginning of each year for T years. At an effective annual

interest rate is 4%, the present value of the series of payments is 1053.25. Find T.
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5. Deposits of P are placed into a fund at the beginning of each year for 14 years. At an effective annual
interest rate is 4%, the present value of the series of payments is 943.01. Find P.

8584 B) 8241 C) 8927 D) 9271 E) 96.14

Pamuyy = Q43.01
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